
CEINTURE rouge 
correction 2 

276+486=762 
53+748=801 
134+699=833 

402-146=256 
743-156=587 
834-355=479 
 

CEINTURE JAUNE 
correction 2 

276+486=762 
53+748=801 
134+699=833 
 

402+146=548 
743+156=899 

834+35=869 

CEINTURE bleue 
correction 1 

9569+2467=12 036 

3675+2498=6173 

317 x 36=11 412 

 

9035-6776=2 259 

5238-3697=1 541 

8572 : 56=153 R=4 

 

CEINTURE orange 
correction 5 

500-321=179 
646–349=297 
554–230=324 

698–39=659 
607–522=85 
914–653=261 
 

CEINTURE JAUNE 
correction 6 

686+327=1 013 

127+83=210 
399+245=644 
 

908+259=1 167 

627+78=705 
783+195=978 
 

CEINTURE orange 
correction 8 

632–480=152 
200–184=16 
965–453=512 

694–82=612 
367–266=101 
841–649=192 
 

 

 

  

   

     

 

  

 

 

 

 

 

 

 

 

 

 

 

 


